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QUESTION 1
What is the correct description of the term test level?
A. the information that defines the required system behavior

B. a group of test activities with the attention of checking the information system in respect of a number of correlated
(part aspects of) quality characteristics

C. a group of test activities that are managed and executed collectively

Correct Answer: C

QUESTION 2

See the illustration below:

To test a registration application for a weekend trip, logical test cases must be created in accordance with the Data
Combination Test. In addition, it has been agreed that less depth testing must be performed. One data pair has been

defined that must be fully tested in combination:

-car - attraction

Eight test cases are designed using a classification tree.
HH_'__%

B 2%

Salinday Sunday zo0 fun park mEsesn o0 » e 100
| 1
Leca | [train |
.-‘_,r .J"f ‘h'-\
sacan stalion 151 2id
Dwa & L 1
O 12 ® I I -
o (2 ’ ’s
04

0I5 L 3 :—'
8 ? '
Sl (o &

S e Ris

Where must the \\'bullets\\' for test case 4 be placed?
A. Saturday, fun park, 2nd

B. Sunday, museum, station
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C. Sunday, fun park, station

Correct Answer: C

QUESTION 3
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During the test execution of a large customer registration system, the system went down for several times. Although

there were no test cases described the tester concluded that the continuity was poor. Which testing method is described

here?

A. dynamic explicit testing
B. dynamic implicit testing
C. static testing

Correct Answer: B

QUESTION 4

Why is the application of a structured testing process often considered to be costly?

A. The advantages of testing are not taken into consideration.
B. More errors are found, which lead to high repair costs.

C. Drawing up comprehensive plans and test cases is costly.
D. Testing more thoroughly requires more time and money.

Correct Answer: A

QUESTION 5

With which units do you best start the unit integration test?
A. the units that are ready first

B. the units that are the worst (least) documented

C. the units in which the most problems are expected

Correct Answer: C
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